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The focus of the Second Five Year Plan was :

(a) establishment of a self-reliant and
self-generating economy with emphasis

on agriculture.

(b) rapid industrialization with emphasis on
¥ the development of basic and heavy
industries.

{e) removal of poverty and attainment of

self-reliance.

(d)  acceleration of food-grain production and
increase in employment opportunities

and overall productivity.

An Indian businessperson buys shares in a
British car company. This transaction will be
reflected in :

(a) Balance of Trade, but not in Balance of

Payments.

(b) Balance of Payments, but not in Balance

of Trade.

both Balance of Payments and Balance
of Trade.

neither Balance of Payments nor
Balance of Trade.

(c)

(d)

Which of the following are High Frequency
Indicators of the Indian economy ?

1. Power Consumption
2. ITP General Index
3. 10-year G-sec yield

Select the correct answer using the code
below.

(a) 1only

(b) 1and2only
(¢) 2and3only
(d 1,2and3

%.

Suppose an Indian citizen makes an
investment abroad and earns a positive return
on her investment. Which of the following is
correct ?

(a) Her income is part of India’s GDP, but

not part of India’s national income.

(b) Her income is part of India’s national

income, but not part of India’s GDP.

Her income is part of both India’s GDP
and national income.

(c)

(d) Her income is neither part of India’s

GDP, nor its national income.

If the Cash Reserve Ratio is lowered by the

RBI, supply of money in the economy will :

(a) remain unchanged.

(b) decrease.

(c)

(d)
Fiscal deficit in the Union Budget means :

(a) the difference  between
expenditure and current revenue.

increase.
have ambiguous impact.

current

net increase in the borrowings of the
Union Government from the Reserve
Bank of India.

the sum of budgetary deficits and the
net increase in internal and external
borrowings.

None of the above

(b)

(c)

(d)

Which one of the following is the largest
component of revenue expenditure in the
Union Budget 2022 — 23 ?

(a) Interest payments

(b) Defense expenditure

(¢c) Expenditure on healthcare
(d) Subsidies




67.

Adequacy of foreign exchange reserves of a
country is captured by which of the following
indicators ?

1. Reserves to import ratio

2 Reserves to external debt ratio

3.  Reserves to GDP ratio

4 Reserves to monetary aggregates

Select the correct answer using the code
below :

(a) 1and3only
(b) 1,2,3and4
(¢) 2,3 and4only
(d) 1,2and4only

If all the people of the economy increase the
proportion of income they save, the total value
of savings in the economy will either decrease
or remain unchanged. This phenomenon is

known as :

(a) Crowding out
(b) Crowding in

(¢) Paradox of thrift

(d) Paradox of prosperity

The banks are required to maintain a certain
ratio between their cash in hand and total

assets. This ratio is known as :

(a) Cash Reserve Ratio (CRR)

(b) Statutory Liquidity Ratio (SLR)
(¢) Central Bank Reserve (CBR)
(d) Statutory Bank Ratio (SBR)
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66. ‘Operation Flood’ is also popularly known 107. A

as

(a) the Green Revolution
(b) the White Revolution
(c) the Blue Revolution

(d) the Yellow Revolution

93. Nowadays, ‘nonfungible tokens’ are
talked about in the context of

(a) digital assets on a blockchain

(b) operations of ‘banking correspon-
dents’ in rural areas

(c) multifactor authentication security
requirement in banking trans-
actions .

(d) transactions through ‘small finance
banks’

97. With reference to Indian economy, the
term ‘bad bank’, frequently mentioned
in news, refers to

(a) an asset reconstruction company
(b) an asset management company -

(c) a bank with huge ‘nonperforming
assets’

(d) a bank that has become insolvent

non-banking financial company

cannot

(a) give loans

(b) make investments
(c) borrow from bank

(d) seek demand deposits from public

and cannot issue cheques

109. The proceeds from disinvestment are

included as

(a) non-tax revenue
(b) revenue receipts
(c) capital receipts
(d) tax revenue

110. GST is a/an

(a) destination-based consumption tax
(b) origin-based production tax

(c) destination-based sales tax on
transaction

(d) origin-based tax on sales
transaction

111. In the first quarter of fiscal year

2020-21, GDP contracted by 239
percent and in the second quarter,
by 7-5 percent. The Economic Survey,
2020-21 preferred to call it a recovery in

(a) U-shape
(b) V-shape
(c) K-shape
(d) W-shape
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31. Which one of the following statements
about production possibility frontier is
not correct?

(a) The production possibility frontier
slopes downwards to the right as
the resources are limited.

(b) The different combinations of
various goods and services given
the available resources and
technology are denoted by the
production possibility frontier.

(c) Any point on or inside the
production possibility frontier is
attainable under the existing
technology and resources.

(d) On the production possibility
frontier, the output of one
commodity can be increased
without changing the output of
another commodity.

32. How is the magnitude of price elasticity
for an individual good determined?

1. By the degree to which the good is
a necessity or luxury

2. By the extent to which substitutes
are available

56. Which one among the following in
statements is not correct?

(@) When the economy grows slowly he
than its potential, the
unemployment rate rises.

(b) Structural employment occurs de

when jobs are eliminated by
changes in demand for particular
goods or due to automation.

(c) Recession in the economy leads to
cyclical unemployment.

(d) At full employment, the measured
unemployment rate is negative.

33. Which one of the following functions as
an automatic stabilizer in the context
of fiscal and monetary policies of an
economy?

(@)
(b)
(c)
(d)

Personal income tax
Reverse repo rate of bank
Open market operation

Bond price

56. Which one among the following
statements is not correct?

(a)

(b)

(c)

(@

When the economy grows slowly
than its potential, the
unemployment rate rises.

Structural employment occurs
when jobs are eliminated by
changes in demand for particular
goods or due to automation.

Recession in the economy leads to
cyclical unemployment.

At full employment, the measured
unemployment rate is negative.



§7. The amount by which the equilibrium 59. The sectoral shares of Gross Value Added
level of real GDP exceeds the full (GVA) for the year 2009-10 to 2018-19
employment level of GDP is called show that the share of service sector

in GVA in India has increased over the
(a) recessionary gap years. Which ax'nong t!ae following have
driven the maximum increase?

(b) inflationary gap (a) Electricity, gas, water supply and
other utility services
(c) income multiplier (b) Trade, hotel, transport,
communication and services
(d) automatic stabilizer related to broadcasting
(c) Public administration, defence and
58. For anything to be recognized as money, other services
it needs to have which of the following
characteristics? (d) Financial, real estate and

professional services
1. Act as an intermediate in the
exchange process

60. On the basis of employment conditions,

2. Standard unit f ting pri
- kB - ek the economy is divided into

3. Must be easily divisible
x4 i v (a) organized and unorganized sectors

4. ~“H higher val in alternati
u:ev: e oLz 3 (b) private and public sectors

(c) seasonal and disguised sectors
Select the correct answer using the code

given below. (d) primary, secondary and tertiary
sectors

(@ 1,2 and 4
(b) 2 and 3 only

) 1,2 and 3

(d 1,3 and 4
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34. Which one of the following has the

largest contribution to the Gross Tax 50. In which of the following states high
Revenue of Government of India in yielding varieties of food grains were
2019-20 (BE)? (A PF 2020 introduced as part of the first phase of
(a) Goods and Services Tax Green Revolution (1966-72)?
(b) Corporation Tax 1. Andhra Pradesh
(c) Customs »
(d) Union Excise Duties 2. Tamil Nadu
35. What is meant by MSME ? 3. Punjab
(a) Medium, Small and Marginalized 4. Haryana
Enterprises
(b) Micro, Small and Marginalized S.elect the correct answer using the code
Enterprises . given below :-
(c) Medium, Strategic and Micro
Enterprises (@ 1,2and3
(d) Micro, Small and Medium Enter- . (b) 2,3and 4
prises

(c) 1and2only
49. Which of the following goods are

included to estimate food inflation in (d) 3 and4only
India ? '
1. Wheat | 60. Which one of the following educa-
2. Paddy tional development indicators is
currently used by United Nations

3. Tobacco Development Programme (UNDP) to
4. Sugar : construct Human Development Index ?
Select the correct answer using the code’ (a) Level of Literacy
given below :
(b) Gross Enrolment Ratio
(a) 1,2and3 .
(c) Mean Years of Schooling
(b) 2,3and4
d) Dropout rate
(c) 1,3and4 @ po

(d) 1,2and4



62. Fixation of price levels for wheat and

rice by the Commission for Agriculture

- Costs and Prices (CACP) is an
example of ?

(a) Administered Price
- (b) Market Price
(c) Control Price

-(d) Support Price

63. Mobile phone operators market  in
India is an example of

(a) Monopoly

(b) Monopolistic Competition
(c) Oligopoly

(d) Perfect Competition

64. Which of the following sectors

contribute ‘in recent years to the
deterioration of asset quality of
commercial banks by way of Non-
Performing Assets ?

1. Agriculture and allied sector
2. Industrial‘sector

3. Infrastructure Scctor

4. Information technology sector

Select the correct answer using the code
given below :

(@) land2 bnly
(b) 2 and 3 only
(c) land4only
(d 1,2,3and4
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17. In a closed economy with no taxes,

if the marginal propensity to consume
is always 0-90, then the value of the
multiplier will be

(a) 10-00
() 1-00
(c) 090
(d 0-10
18. According to simple Keynesian theory,

the slope of the aggregate consumption
curve against income is

(a) Positive
(b) Negative
(c) Zero
(d) Infinity
19. Which one of the following is an
example of a price ceiling ?
(a) Fares charged by Airlines m India
(b) Price printed on biscuit packets

(c) Minimum support price for cane
growers

(d) Minimum wages fixed by state
Govemments

L
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20. Which one of the following statements
is true with regard to an economy
which is on its production possibility
frontier ?

() The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

(b) There is no limit or consu'ai.nt for
the economy in the production of
goods and services

(c) The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

(d) Its production possibility frontier
is an upward sloping curve

21. Who coined the concept of “Paradox
of Thrift” ? :
(a) Adam Smith
~ (b) Alfred Marshall
\/(c) John Maynard Keynes
(d) Paul A. Samuelson .

53. Zero price élasticity of demand means

(a) whatever the change in price,

there is absolutely no change in

demand

(b) for a small change in price, there
is a small change in demand

(c) for a small change in.pr.icc, there
is a large change in demand

(d) for a large change in price, there is

a small change in demand

51. According to the Law of Diminishing

Retumns, in a production function when
more and more units of the variable
factor are used, holding the quantities
of a fixed factor constant, a point is

reached beyond which
(a) the marginal revenue will diminish
(b) the average revenue will diminish
(c) the marginal product will diminish

(d) the marginal product will increaée

- 52. Which one of the following is NOT

correct ?

(@) The Average Revenue and
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic’

(b) The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

~ (¢) Inthe long-run, a competitivé firm

earns only normal profits

(d) In equilibrium, the Marginal Cost
Curve of the monopoly firm may .
be rising, falling or constant



54.

55.

Suppose that the price of a commodity
increases from ¥ 90 to ¥ 110 and
the demand curve shows that the
corresponding reduction in quantity
demanded is from 240 units to 160
units. Then, the coefficient of the price
elasticity of demand will be

(@) 10
(b) 2-4
© 05
@ 20

What is the real interest rate on a
Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(a) 240%
(b) 34%
) 14%

d) 4%



107. In National

206(€ Quertiont

Income

(NT)

accounts,

Personal Income (P]) is defined as

(a)

fb)

(e

(d)

NI - undistributed profits — net

interest payments made by
households - corporate tax +
transfer payments to the

households from the government
and firms

NI -  undistributed profits -
corporate tax + transfer payments
to the households from the
government and firms

undistributed profits — net interest
payments made by households +
transfer payments to the
households from the government
and firms

undistributed profits — net interest
payments made by households -
corporate tax

108. The Reserve Bank of India defines narrow
money as

(a)

(b)

(c)

(@)

CU (currency notes + coins) + DD
(net demand deposits held by
commercial banks)

CU + DD + saving deposits with
post office savings banks

CU + DD + net time deposits of
commercial banks

CU + DD + net time deposits of
commercial banks + total deposits
of post offices

124. Consider the following countries :

5 8

2.
3.
4

China
Spain
India

Russia

Which one of the following is the correct
ascending order of the above countries
in terms of their share of services sector
to Gross Value Added (GVA) during the
period 2001-2015?

(a)
(b)
fc)
(d)

1,.2, 3,4
1,3, 4,2
1,2, 4,3
1, 3,2, 4

125. If farmers’ loans are waived in India, how
will it affect the aggregate demand in the
economy?

L.

Private consumption impact via
increase in private sector net
wealth

Public sector impact via changes in
government expenditure/taxes
Crowding-out impact via higher
borrowings by State Governments
Crowding-in impact via higher
credit availability as bank NPAs fall

Select the correct answer using the code
given below.

(a)

1, 2 and 3 only

() 1,2, 3 and 4

(c)

3 and 4 only

(d) 1 and 2 only
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109. Suppose the price of mangoes increases QO I ? @\,\keﬁ D‘ﬂ

from ¥ 50 per kg to ¥ 75 per kg. Due to
this, the demand for mangoes declines

from 100 kg to 50 kg. Which one of 57. Match List I with List II and select the
the following is the price elasticity of correct answer using the code given
demand for mangoes? below the Lists :
faj 4 b) 3 X
) List I List II
fc) 2 (@ 1 (Committee) (Subject)
110. Multipliers will be lower with which one A. Rangarajan 1. Tax Reform
of the following? Committee
(@) High marginal propensity to ; 2. Insurance Reform
consume B. Narsimhan
(b)) Low marginal propensity to Comumtiee 3. Disinvestment of
consume C. Kelkar shares in PSEs
{c} High marginal propensity to invest ~ Committee e
. 4. Banking Sector
d] Lo i
(d} w marginal propensity to save D. Malhotra Reform
Committee

iolé 91“%%{_"0"5’% Code :

35. During 2014-2015, in which one of the
following industrial sectors, the FDI equity (@) e2estial Tl = S
inflow was maximum ? ®) 2

4
a) Telecommunications
(@) (©0 3 4 . 1 2

(b) Services (Financial, Banking and
Insurance, Non-Financial / Business,

() b )
R & Detc.) Zo 1£ I\lD G\Utﬂ%l"row

(¢) Drugs and Pharmaceuticals 80. Which of the following statements about
. e detailed corporate governance norms
(d) Hotel and Tourism for listed companies issued in April 2014
by SEBI is/are correct ?
¢ 1. It provides for stricter disclosures and
Q Dl LI & u Q&(h e"’\g protection of investor rights, includin

equitable treatment for minority an
foreign shareholders

60. thch of the following factors affects 2. Under the new norms listed
individual’s demand for a commodity ? companies are required to provide the
1. Price of the commodity option of facihty of e'Voting to

shareholders on all resolutions

2. Income of the consumer proposed to be ‘passed at general

3. Prices of related goods meetings

Select the correct answer using the code Select the correct answer using the code
given below : given below :

(@) 1 and 2 only 8‘3 ; gz}y

(b) 2 and 3 only © Both 1 and 2

() 1,2and3 (d) Neither 1 nor 2

(d) 1 only
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91. If we deduct grants for creation of
capital assets from revenue deficit,
we arrive at the concept of

{a) primary deficit
{b) net fiscal deficit
- {c) budgetary deficit

(d) effective revenue deficit

92. Which one among the following items
has maximum weight in wholesale
price index in India?

(a) Primary article

(b} Fuel and power

{c) Manufactured product
(d) Food item

93. Which among the following agencies
disbursed maximum credit to
the agricultural sector in India
between 2006-07 and 2011-12?

fa) Cooperative banks
(b) Regional rural banks
fc) Commercial banks

(d) Moneylenders

94. Consider the following statements :

1. Repo rate is the interest rate at
which RBI lends to commercial
banks for short period.

2. Reverse repo rate is the
«interest rate which RBI pays
to commercial banks on short-
term deposits.

3. Gap between repo rate and
reverse repo rate has been
declining in India in the recent
past.

Which of the statements given
above is/are not correct?

faj 1

(b) 2 only
(c) 3 only
({d 2 and 3

9S5. The rate of inflation in India is

measured generally in respect of
movement of

(a) consumer price index
(b) wholesale price index

{c) cost of Iliving index for
agricultural labour

(d) money supply

96. Privatization includes

fa) sale of public enterprises to
private sector

{b) disinvestment of public
enterprise equity

c) participation of private sector
in management in public
sector enterprises

(d) All of the above



97. Which of the following statements
is correct with respect to the
convertibility of Indian rupee?

(a)

(b)

(c)

(d)

It is convertible on capital
account

It is convertible on current
account

It is convertible both on
current and capital account

None of the above

98. The Government of India refers to
the absolute poverty line in terms of

(a)
(b)
fc)
(d)

household savings
household consumption
household investment

household income

99. In the current pricing policy, the
price of diesel in India consists of

(@)

(b)

(c)

(d)

Fuel component + Customs
duty + Excise duty + Sales VAT
+ Dealer’s commission

Fuel component + Excise
duty + Sales VAT + Decaler's
commission

Fuel component + Customs
duty + Sales VAT + Dealer’s
commission

Fuel component + Customs
duty + Excise duty + Dealer’s
commission

Jol) Quephonk

65. New Public Management stands for

1.

shift from conventional public
policy to cost effectiveness

cluster rather than pyramids
of organization in structural
frameworks

flexible and adaptive opera-
tional systems

rigid planning and conven-
tional bureaucratic hierarchy

Select the correct answer using the
code given below.

(a)
(b)
()
(d)

1, 2, 3 and 4
1 and 2 only
1, 2 and 3 only
3 and 4 only

95. Which of the following statements
about Ecomark is/are correct?

1.

Ecomark is a certification mark
issued by the Bureau of Indian
Standard for the product
conforming to a set of
standards aimed at the least
impact on ecosystem.

The purpose of the mark is to
increase awareness among the
consumers towards reducing
environmental impact.

Select the correct answer using the
code given below.

(@)

1 only

(b) 2 only

fc) Both 1 and 2 Z

({d) Neither 1 nor 2
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70.

98.

2011 Quesfiong

Which of the following statements regarding
Regional Rural Banks {(RRB) in India is/are
correct ?

1. The basic aim of setling up the RRBs is
to develop rural economy,

2. The area of RRBs is iimited to a specific
region comprising one or more distriets.

3. RRBs
Banks.

are sponsorcd by Commercial

Select the correcl answer using the code
given below :

(a) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d 1,2and 3

Import substitulion implics

44.

69.

4,

(a) importing new items in place of old items
of import

(b) gradual reduction of imported goods to
save foreign exchange

(¢} increasing domestic supply of goods by
imposing importi restrictions

(d) replacing import ilems by domestic
production of such items

The shape of the population pyramid reflect

the characteristics of the population. Th

shape of the pyramid in India is
(a)

(b) narrow base and a tapered top
{c} broad base and a tapered top
(d) narrow base and narrow top

bell shaped and tapered towards the top

Which onc ameng the following is notf an
institution of Indian Money Market ?

(a) Reserve Bank of India

(b) Bill Brokers

(¢) Merchant Bankers

(d)

Non-Banking Financial Inlermediaries

Which one among the following is not a
component of fiscal policy ?

(a) Taxation policy
(b) Public debt policy
(¢) Trade policy
(d) Public expenditure policy
Which  one of the following lypes of

economic activities dominates in all rural
settlements ?

(a) Primary
(b) Secondary
(c) Tertiary

(d) Quaternary

102. In which of the following types of economy are

the factors of production owned individually ?

(a)
(b}
{c)
(d)

Capitalist
Socialist
Mixed

Both socialist and capitalist
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4. Consider the following items of wholesal -
4 Ilmgcl"::%:ry artick:sg - " 290 q & “ %h M

2. Fuel, power, lights and lubricants

3. Manufacturing products 6. Which one of the following is not a

Arrange the above items in descending function of Reserve Bank of India ?
order in terms of their weightage in (a) Banker to the government
calculating wholesale price index :

(@ 1,23 (b) Keeping foreign exchange reserve
(® 1,3,2 (c) Issuing of one rupee coin and note
© 31,2 (d) Regulating credit in the country
@ 3,21

74. Consider the following statements :

1. When the inflation decreases, but still
remains positive, it is deflation.

2. Deflation reduces the real value of
money over time.

3. Historically not all episodes of
deflation correspond with periods of
poor economic growth.

Which of the statements given above
is/are correct ?

(@) 1,2 and 3
(b) 1 and 3 only
(c) 3 only

(d) 2 only



